
Derivative of Inverse Trigonometric Functions

Derivative of the Arcsine


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cos y
would be adequate for the derivative of sinx y , but we

require the derivative of 1siny x . Therefore, our answer must be in

terms of x.

By applying similar techniques, we obtain the rules for derivatives of
Inverse Trigonometric Functions.

Rules:
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http://tutorial.math.lamar.edu/AllBrowsers/2413/DiffInvTrigFcns.aspl
http://math.dartmouth.edu/~klbooksite/2.11/211.html
http://archives.math.utk.edu/visual.calculus/0/inverse.6/
http://archives.math.utk.edu/visual.calculus/3/inverse.1/
http://www.ugrad.math.ubc.ca/coursedoc/math100/notes/zoo/invtrig.html


Example

Find dy
dx

if  1 3siny x

Solution:
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Example

A particle moves along the x-axis so that its position at any time 0t  is
  1tanx t t . What is the velocity of the particle when 16t  ?

Solution:
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When t=16, the velocity is:
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Example

Determine the derivative of  21sec x

Solution:
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Example

Find the derivative of   2arctan 2f x x x 

Solution:
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Example

Determine all points where the tangent line to 1
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horizontal.

Solution:
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Now the derivative equals zero (line is horizontal) only when x=0.

We now need only the y-value.

Therefore
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